

## ON SOME OSTROWSKI TYPE INTEGRAL INEQUALITIES

A. AGLIĆ ALJINOVIĆ, R. HOXHA AND J. PEČARIĆ

ABSTRACT. In this paper we establish some new Ostrowski type integral inequalities, by using the Montgomery identity and Taylor's formula.

### 1. INTRODUCTION

Ostrowski (see [13]) proved the following inequality: Let  $f : [a, b] \rightarrow R$  be continuous function on  $[a, b]$  and differentiable on  $(a, b)$ , with derivative  $f' : (a, b) \rightarrow R$  bounded on  $(a, b)$ , i.e.  $\|f'\|_\infty = \sup_{t \in (a, b)} |f'(t)| < \infty$ . Then for all  $x \in [a, b]$  the following inequality holds

$$\left| f(x) - \frac{1}{b-a} \int_a^b f(t) dt \right| \leq \left[ \frac{1}{4} + \frac{(x - \frac{a+b}{2})^2}{(b-a)^2} \right] (b-a) \|f'\|_\infty.$$

A large number of generalizations, extensions and variants of this inequality have been given by several authors since its discovery, (see [1] - [14]). Recently, the following generalizations of the Ostrowski inequality were proved (see [3] and [4]):

**Theorem A.** *Let  $f : I \rightarrow R$  be such that  $f^{(n-1)}$  is absolutely continuous for some  $n \geq 2$ ,  $I \subset R$  an open interval,  $a, b \in I$ ,  $a < b$ . Additionally assume that  $(p, q)$  is a pair of conjugate exponents, that is  $1 \leq p, q \leq \infty$ ,  $\frac{1}{p} + \frac{1}{q} = 1$ . Then we have*

$$\left| f(x) - \frac{1}{b-a} \int_a^b f(t) dt - \sum_{i=0}^{n-2} \frac{f^{(i+1)}(a)}{i!(i+2)} \frac{(x-a)^{i+2}}{b-a} + \sum_{i=0}^{n-2} \frac{f^{(i+1)}(b)}{i!(i+2)} \frac{(x-b)^{i+2}}{b-a} \right| \leq \frac{1}{(n-1)!} \left( \int_a^b |T_n^1(x, s)|^q ds \right)^{\frac{1}{q}} \|f^{(n)}\|_p$$

---

2000 *Mathematics Subject Classification.* 26D15.

*Key words and phrases.* Ostrowski inequality, integral identity, Hölder inequality.

where

$$T_n^1(x, s) = \begin{cases} -\frac{(x-s)^n}{n(b-a)} + \frac{x-a}{b-a}(x-s)^{n-1}, & a \leq s \leq x, \\ -\frac{(x-s)^n}{n(b-a)} + \frac{x-b}{b-a}(x-s)^{n-1}, & x < s \leq b. \end{cases} \quad (1.1)$$

The constant on the right-hand side of the inequality is sharp for  $1 < p \leq \infty$  and the best possible for  $p = 1$ .

**Theorem B.** Let  $f : I \rightarrow R$  be such that  $f^{(n-1)}$  is absolutely continuous for some  $n \geq 2$ ,  $I \subset R$  an open interval,  $a, b \in I, a < b$ . Additionally assume that  $(p, q)$  is a pair of conjugate exponents, that is  $1 \leq p, q \leq \infty, \frac{1}{p} + \frac{1}{q} = 1$ . Then

$$\begin{aligned} & \left| f(x) - \frac{1}{b-a} \int_a^b f(t) dt + \sum_{i=0}^{n-2} f^{(i+1)}(x) \frac{(b-x)^{i+2} - (a-x)^{i+2}}{(i+2)!(b-a)} \right| \\ & \leq \frac{1}{(n-1)!} \left( \int_a^b |T_n^2(x, s)|^q ds \right)^{\frac{1}{q}} \|f^{(n)}\|_p \quad \text{for all } x \in I \end{aligned}$$

where

$$T_n^2(x, s) = \begin{cases} \frac{-1}{n(b-a)}(a-s)^n, & a \leq s \leq x, \\ \frac{-1}{n(b-a)}(b-s)^n, & x < s \leq b. \end{cases} \quad (1.2)$$

The constant on the right-hand side of the inequality is sharp for  $1 < p \leq \infty$  and the best possible for  $p = 1$ .

In the present paper, by using identities obtained in [3] and [4] via the Montgomery identity and Taylor's formula, we get some new Ostrowski type integral inequalities involving two functions and their derivatives. Our result in special cases yields the results of Theorem A and Theorem B.

## 2. MAIN RESULTS

In this section our main results are given. In what follows, we denote by  $R$ , the set of real number and  $[a, b] \subset R, a < b$ . We use the usual convention that on empty sum is taken to be zero.

**Theorem 1.** Let  $(p, q)$  be a pair of conjugate exponents, i.e.  $1 \leq p, q \leq \infty$  and  $\frac{1}{p} + \frac{1}{q} = 1$  and  $f, g : [a, b] \rightarrow R$  functions such that  $f^{(n)}, g^{(n)} \in L_p[a, b]$ . Then for  $n \geq 2$  the following inequality holds for all  $x \in [a, b]$ .

$$\left| f(x)g(x) - \frac{1}{2(b-a)} \left[ g(x) \int_a^b f(x) dx + f(x) \int_a^b g(x) dx \right] \right|$$

$$\begin{aligned}
& -\frac{1}{2}g(x) \left[ \sum_{i=0}^{n-2} \frac{f^{(i+1)}(a)(x-a)^{i+2}}{i!(i+2)(b-a)} - \sum_{i=0}^{n-2} \frac{f^{(i+1)}(b)(x-b)^{i+2}}{i!(i+2)(b-a)} \right] \\
& -\frac{1}{2}f(x) \left[ \sum_{i=0}^{n-2} \frac{g^{(i+1)}(a)(x-a)^{i+2}}{i!(i+2)(b-a)} - \sum_{i=0}^{n-2} \frac{g^{(i+1)}(b)(x-b)^{i+2}}{i!(i+2)(b-a)} \right] \Big| \\
& \leq \frac{1}{2(n-1)!} \left[ |g(x)| \|f^{(n)}\|_p + |f(x)| \|g^{(n)}\|_p \right] \|T_n^1(x, \cdot)\|_q \quad (2.1)
\end{aligned}$$

where  $T_n^1(x, s)$  is given by (1.1). The inequality (2.1) is sharp for  $1 < p \leq \infty$  and the best possible for  $p = 1$ .

*Proof.* The following identity is valid (see [4])

$$\begin{aligned}
f(x) &= \frac{1}{b-a} \int_a^b f(x) dx + \sum_{i=0}^{n-2} \frac{f^{(i+1)}(a)(x-a)^{i+2}}{i!(i+2)(b-a)} \\
& - \sum_{i=0}^{n-2} \frac{f^{(i+1)}(b)(x-b)^{i+2}}{i!(i+2)(b-a)} + \frac{1}{(n-1)!} \int_a^b T_n^1(x, s) f^{(n)}(s) ds \quad (2.2)
\end{aligned}$$

and similarly

$$\begin{aligned}
g(x) &= \frac{1}{b-a} \int_a^b g(x) dx + \sum_{i=0}^{n-2} \frac{g^{(i+1)}(a)(x-a)^{i+2}}{i!(i+2)(b-a)} \\
& - \sum_{i=0}^{n-2} \frac{g^{(i+1)}(b)(x-b)^{i+2}}{i!(i+2)(b-a)} + \frac{1}{(n-1)!} \int_a^b T_n^1(x, s) g^{(n)}(s) ds. \quad (2.3)
\end{aligned}$$

Multiplying (2.2) by  $g(x)$ , (2.3) by  $f(x)$ , and summing the resulting identities, then dividing by 2, we have

$$\begin{aligned}
f(x)g(x) &= \frac{1}{2(b-a)} \left[ g(x) \int_a^b f(x) dx + f(x) \int_a^b g(x) dx \right] \\
& + \frac{1}{2}g(x) \left[ \sum_{i=0}^{n-2} \frac{f^{(i+1)}(a)(x-a)^{i+2}}{i!(i+2)(b-a)} - \sum_{i=0}^{n-2} \frac{f^{(i+1)}(b)(x-b)^{i+2}}{i!(i+2)(b-a)} \right] \\
& + \frac{1}{2}f(x) \left[ \sum_{i=0}^{n-2} \frac{g^{(i+1)}(a)(x-a)^{i+2}}{i!(i+2)(b-a)} - \sum_{i=0}^{n-2} \frac{g^{(i+1)}(b)(x-b)^{i+2}}{i!(i+2)(b-a)} \right]
\end{aligned}$$

$$+ \frac{1}{2(n-1)!} \left[ g(x) \int_a^b T_n^1(x, s) f^{(n)}(s) dx + f(x) \int_a^b T_n^1(x, s) g^{(n)}(s) ds \right]. \quad (2.4)$$

From (2.4) and using the properties of modulus, we have

$$\begin{aligned} & \left| f(x)g(x) - \frac{1}{2(b-a)} \left[ g(x) \int_a^b f(x) dx + f(x) \int_a^b g(x) dx \right] \right. \\ & - \frac{1}{2} g(x) \left[ \sum_{i=0}^{n-2} \frac{f^{(i+1)}(a)(x-a)^{i+2}}{i!(i+2)(b-a)} - \sum_{i=0}^{n-2} \frac{f^{(i+1)}(b)(x-b)^{i+2}}{i!(i+2)(b-a)} \right] \\ & \left. - \frac{1}{2} f(x) \left[ \sum_{i=0}^{n-2} \frac{g^{(i+1)}(a)(x-a)^{i+2}}{i!(i+2)(b-a)} - \sum_{i=0}^{n-2} \frac{g^{(i+1)}(b)(x-b)^{i+2}}{i!(i+2)(b-a)} \right] \right| \\ & \leq \frac{1}{2(n-1)!} \left[ |g(x)| \int_a^b |T_n^1(x, s) f^{(n)}(s)| ds + |f(x)| \int_a^b |T_n^1(x, s) g^{(n)}(s)| ds \right]. \end{aligned}$$

After applying Hölder's inequality

$$\begin{aligned} \int_a^b |T_n^1(x, s) f^{(n)}(s)| ds & \leq \|T_n^1(x, s)\|_q \|f^{(n)}(s)\|_p \\ \int_a^b |T_n^1(x, s) g^{(n)}(s)| ds & \leq \|T_n^1(x, s)\|_q \|g^{(n)}(s)\|_p \end{aligned}$$

we obtain the inequality (2.1).

If we take  $g(x) = 1$  the inequality (2.1) reduces to the inequality from the Theorem A. Thus, from the results of the Theorem A (see [3]), we obtain that inequality (2.1) is sharp for  $1 < p \leq \infty$  and the best possible for  $p = 1$ .  $\square$

The Beta and incomplete Beta functions are defined by

$$B(x, y) = \int_0^1 t^{x-1} (1-t)^{y-1} dt, \quad B_r(x, y) = \int_0^r t^{x-1} (1-t)^{y-1} dt.$$

**Corollary 1.** *Suppose all the assumptions from the Theorem 1 holds. Then for  $1 < p \leq \infty$  we have*

$$\begin{aligned}
& \left| f(x)g(x) - \frac{1}{2(b-a)} \left[ g(x) \int_a^b f(x)dx + f(x) \int_a^b g(x)dx \right] \right. \\
& - \frac{1}{2}g(x) \left[ \sum_{i=0}^{n-2} \frac{f^{(i+1)}(a)(x-a)^{i+2}}{i!(i+2)(b-a)} - \sum_{i=0}^{n-2} \frac{f^{(i+1)}(b)(x-b)^{i+2}}{i!(i+2)(b-a)} \right] \\
& \left. - \frac{1}{2}f(x) \left[ \sum_{i=0}^{n-2} \frac{g^{(i+1)}(a)(x-a)^{i+2}}{i!(i+2)(b-a)} - \sum_{i=0}^{n-2} \frac{g^{(i+1)}(b)(x-b)^{i+2}}{i!(i+2)(b-a)} \right] \right| \\
& \leq \frac{1}{2(n-1)!(b-a)} \left\{ [(x-a)^{qn+1} + (b-x)^{qn+1}] n^{q(n-1)+1} \right. \\
& \times \left[ B(q+1, q(n-1)+1) - B_{\frac{n-1}{n}}(q+1, q(n-1)+1) \right] \left. \right\}^{\frac{1}{q}} \\
& \times \left[ |g(x)| \|f^{(n)}\|_p + |f(x)| \|g^{(n)}\|_p \right]. \tag{2.5}
\end{aligned}$$

And for  $p = 1$

$$\begin{aligned}
& \left| f(x)g(x) - \frac{1}{2(b-a)} \left[ g(x) \int_a^b f(x)g(x) + f(x) \int_a^b g(x)d(x) \right] \right. \\
& - \frac{1}{2}g(x) \left[ \sum_{i=0}^{n-2} \frac{f^{(i+1)}(a)(x-a)^{i+2}}{i!(i+2)(b-a)} - \sum_{i=0}^{n-2} \frac{f^{(i+1)}(b)(x-b)^{i+2}}{i!(i+2)(b-a)} \right] \\
& \left. - \frac{1}{2}f(x) \left[ \sum_{i=0}^{n-2} \frac{g^{(i+1)}(a)(x-a)^{i+2}}{i!(i+2)(b-a)} - \sum_{i=0}^{n-2} \frac{g^{(i+1)}(b)(x-b)^{i+2}}{i!(i+2)(b-a)} \right] \right| \\
& \leq \frac{n-1}{2n!(b-a)} \max \{ (x-a)^n, (b-x)^n \} \left[ |g(x)| \|f^{(n)}\|_1 + |f(x)| \|g^{(n)}\|_1 \right].
\end{aligned}$$

*Proof.* We have

$$\begin{aligned}
\|T_n^1(x, s)\|_q &= \left( \int_a^b |T_n^1(x, s)|^q ds \right)^{\frac{1}{q}} = \left( \int_a^x \left| -\frac{(x-s)^n}{n(b-a)} + \frac{x-a}{b-a} (x-s)^{n-1} \right|^q ds \right. \\
& \quad \left. + \int_x^b \left| -\frac{(x-s)^n}{n(b-a)} + \frac{x-b}{b-a} (x-s)^{n-1} \right|^q ds \right)^{\frac{1}{q}}.
\end{aligned}$$

Using the substitution  $s = x - n(x-a)(1-t)$  the first integral is equal to

$$\begin{aligned}
& \int_a^x \left| -\frac{(x-s)^n}{n} + (x-a)(x-s)^{n-1} \right|^q ds \\
&= \int_a^x (x-s)^{q(n-1)} \left( (x-a) - \frac{(x-s)}{n} \right)^q ds = (x-a)^{qn+1} n^{q(n-1)+1} \\
&\quad \times \left( B(q+1, q(n-1)+1) - B_{\frac{n-1}{n}}(q+1, q(n-1)+1) \right).
\end{aligned}$$

Similarly, using the substitution  $s = x + n(b-x)(1-t)$  the second integral is equal to

$$\begin{aligned}
& \int_x^b \left| -\frac{(x-s)^n}{n} + (x-b)(x-s)^{n-1} \right|^q ds \\
&= \int_x^b (s-x)^{q(n-1)} \left( (b-x) - \frac{(s-x)}{n} \right)^q ds = (b-x)^{qn+1} n^{q(n-1)+1} \\
&\quad \times \left( B(q+1, q(n-1)+1) - B_{\frac{n-1}{n}}(q+1, q(n-1)+1) \right).
\end{aligned}$$

So, we have

$$\begin{aligned}
\|T_n^1(x, s)\|_q &= \left( \int_a^b |T_n^1(x, s)|^q ds \right)^{\frac{1}{q}} = \frac{1}{b-a} \left\{ [(x-a)^{qn+1} + (b-x)^{qn+1}] \right. \\
&\quad \left. \times n^{q(n-1)+1} \left[ B(q+1, q(n-1)+1) - B_{\frac{n-1}{n}}(q+1, q(n-1)+1) \right] \right\}^{\frac{1}{q}}.
\end{aligned}$$

If we apply inequality (2.1), the inequality (2.5) follows.

For  $p = 1$ , we have

$$\begin{aligned}
\sup_{x \in [a, b]} |T_n^1(x, s)| &= \max \left\{ \sup_{s \in [a, x]} \left| -\frac{(x-s)^n}{n(b-a)} + \frac{x-a}{b-a} (x-s)^{n-1} \right|, \right. \\
&\quad \left. \sup_{s \in [x, b]} \left| -\frac{(x-s)^n}{n(b-a)} + \frac{x-b}{b-a} (x-s)^{n-1} \right| \right\}.
\end{aligned}$$

By simple calculation we get

$$\sup_{s \in [a, x]} \left| -\frac{(x-s)^n}{n(b-a)} + \frac{x-a}{b-a} (x-s)^{n-1} \right| = \frac{(n-1)(x-a)^n}{n(b-a)}$$

$$\sup_{s \in [x, b]} \left| -\frac{(x-s)^n}{n(b-a)} + \frac{x-b}{b-a}(x-s)^{n-1} \right| = \frac{(n-1)(b-x)^n}{n(b-a)}$$

then, by the applying inequality (2.1), we obtain the second inequality (2.5).  $\square$

**Remark 1.** As we have mentioned, for  $g(x) = 1$  the inequality (2.1) reduces to the inequality from the Theorem A. Further, if we take  $n = 2$  inequality (2.5) reduces to

$$\begin{aligned} & \left| f(x) - \frac{1}{b-a} \int_a^b f(x) dx + \frac{f'(b)(x-b)^2 - f'(a)(x-a)^2}{2(b-a)} \right| \\ & \leq \frac{1}{b-a} \{((x-a)^{2q+1} + (b-x)^{2q+1}) \cdot 2^q (B(q+1, q+1))\}^{\frac{1}{q}} \|f''\|_p \end{aligned}$$

and  $p=1$ , we have

$$\begin{aligned} & \left| f(x) - \frac{1}{b-a} \int_a^b f(x) dx + \frac{f'(b)(x-b)^2 - f'(a)(x-a)^2}{2(b-a)} \right| \\ & \leq \frac{1}{2(b-a)} \max \{(x-a)^2, (b-x)^2\} \|f''\|_1. \end{aligned}$$

For  $n = 1$  identity (2.2) reduces to the Montgomery identity:

$$f(x) = \frac{1}{b-a} \int_a^b f(t) dt + \int_a^b P(x, t) f'(t) dt$$

where  $P(x, t)$  is the Peano kernel defined by

$$P(x, t) = \begin{cases} \frac{t-a}{b-a}, & a \leq t \leq x \\ \frac{t-b}{b-a}, & x < t \leq b \end{cases}. \quad (2.6)$$

So, if we take  $g(x) = 1$ , and  $p = \infty$ ,  $q = 1$  (for  $n = 1$ ), then we obtain the Ostrowski inequality:

$$\left| f(x) - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{1}{2} \cdot \frac{(x-a)^2 + (b-x)^2}{b-a} \|f'\|_\infty \quad \text{for all } x \in [a, b].$$

**Theorem 2.** Let  $(p, q)$  be a pair of conjugate exponents, i.e.  $1 \leq p, q \leq \infty$  and  $\frac{1}{p} + \frac{1}{q} = 1$ ,  $f, g : [a, b] \rightarrow R$  functions such that  $f^{(n)}, g^{(n)} \in L_p[a, b]$ .

Then for  $n \geq 2$  the following inequality holds

$$\begin{aligned}
& \left| f(x)g(x) - \frac{1}{2(b-a)} \left[ g(x) \int_a^b f(x)dx + f(x) \int_a^b g(x)dx \right] \right. \\
& + \frac{1}{2} \left[ g(x) \sum_{i=0}^{n-2} f^{(i+1)}(x) \frac{(b-x)^{i+2} - (a-x)^{i+2}}{(i+2)!(b-a)} \right. \\
& \left. \left. + f(x) \sum_{i=0}^{n-2} g^{(i+1)}(x) \frac{(b-x)^{i+2} - (a-x)^{i+2}}{(i+2)!(b-a)} \right] \right| \\
& \leq \frac{1}{2(n-1)!} \left[ |g(x)| \|f^{(n)}\|_p + |f(x)| \|g^{(n)}\|_p \right] \|T_n^2(x, s)\|_q \quad (2.7)
\end{aligned}$$

where  $T_n^2(x, s)$  is given by (1.2). The inequality (2.7) is sharp for  $1 < p \leq \infty$  and the best possible for  $p = 1$ .

*Proof.* The following identity is valid (see [3])

$$\begin{aligned}
f(x) &= \frac{1}{b-a} \int_a^b f(x)dx - \sum_{i=0}^{n-2} f^{(i+1)}(x) \frac{(b-x)^{i+2} - (a-x)^{i+2}}{(i+2)!(b-a)} \\
& \quad + \frac{1}{(n-1)!} \int_a^b T_n^2(x, s) f^{(n)}(s) ds \quad (2.8)
\end{aligned}$$

and similarly

$$\begin{aligned}
g(x) &= \frac{1}{b-a} \int_a^b g(x)dx - \sum_{i=0}^{n-2} g^{(i+1)}(x) \frac{(b-x)^{i+2} - (a-x)^{i+2}}{(i+2)!(b-a)} \\
& \quad + \frac{1}{(n-1)!} \int_a^b T_n^2(x, s) g^{(n)}(s) ds. \quad (2.9)
\end{aligned}$$

Multiplying (2.8) by  $g(x)$ , and (2.9) by  $f(x)$  and summing the resulting identities, then dividing by 2, we have

$$\begin{aligned}
f(x)g(x) &= \frac{1}{2(b-a)} \left[ g(x) \int_a^b f(x)dx + f(x) \int_a^b g(x)dx \right] \\
& - \frac{1}{2} \left[ g(x) \sum_{i=0}^{n-2} f^{(i+1)}(x) \frac{(b-x)^{i+2} - (a-x)^{i+2}}{(i+2)!(b-a)} \right.
\end{aligned}$$



$$\begin{aligned}
& + f(x) \sum_{i=0}^{n-2} g^{(i+2)}(x) \frac{(b-x)^{i+2} - (a-x)^{i+2}}{(i+2)!(b-a)} \Big] \\
& + \frac{1}{2(n-1)!} \left[ g(x) \int_a^b T_n^2(x,s) f^{(n)}(s) ds + f(x) \int_a^b T_n^2(x,s) g^{(n)}(s) ds \right]. \quad (2.10)
\end{aligned}$$

From (2.10) and using the properties of modulus, we have

$$\begin{aligned}
& \left| f(x)g(x) - \frac{1}{2(b-a)} \left[ g(x) \int_a^b f(x) dx + f(x) \int_a^b g(x) dx \right] \right. \\
& - \frac{1}{2} \left[ g(x) \sum_{i=0}^{n-2} f^{(i+1)}(x) \frac{(b-x)^{i+2} - (a-x)^{i+2}}{(i+2)!(b-a)} \right. \\
& \left. \left. + f(x) \sum_{i=0}^{n-2} g^{(i+2)}(x) \frac{(b-x)^{i+2} - (a-x)^{i+2}}{(i+2)!(b-a)} \right] \right| \\
& \leq \frac{1}{2(n-1)!} \left[ |g(x)| \int_a^b |T_n^2(x,s) f^{(n)}(s)| ds + |f(x)| \int_a^b |T_n^2(x,s) g^{(n)}(s)| ds \right].
\end{aligned}$$

After applying Hölder's inequality

$$\begin{aligned}
& \int_a^b |T_n^2(x,s) f^{(n)}(s)| ds \leq \|T_n^2(x,s)\|_q \|f^{(n)}(s)\|_p \\
& \int_a^b |T_n^2(x,s) g^{(n)}(s)| ds \leq \|T_n^2(x,s)\|_q \|g^{(n)}(s)\|_p
\end{aligned}$$

we obtain the inequality (2.7) .

If we take  $g(x) = 1$  the inequality (2.7) reduces to the inequality from the Theorem B. Thus, from the results of the Theorem B (see [4]), we obtain that inequality (2.7) is sharp for  $1 < p \leq \infty$  and the best possible for  $p = 1$ .  $\square$

**Corollary 2.** *Suppose all the assumptions from Theorem 2 hold. Then for  $1 < p \leq \infty$  we have*

$$\left| f(x)g(x) - \frac{1}{2(b-a)} \left[ g(x) \int_a^b f(x) dx + f(x) \int_a^b g(x) dx \right] \right|$$

$$\begin{aligned}
& + \frac{1}{2} \left[ g(x) \sum_{i=0}^{n-2} f^{(i+1)}(x) \frac{(b-x)^{i+2} - (a-x)^{i+2}}{(i+2)!(b-a)} \right. \\
& \left. + f(x) \sum_{i=0}^{n-2} g^{(i+1)}(x) \frac{(b-x)^{i+2} - (a-x)^{i+2}}{(i+2)!(b-a)} \right] \left| \leq \frac{1}{2n!(b-a)} \right. \\
& \left. \times \left( \frac{(x-a)^{qn+1} + (b-x)^{qn+1}}{nq+1} \right)^{\frac{1}{q}} \left[ |g(x)| \|f^{(n)}\|_p + |f(x)| \|g^{(n)}\|_p \right]. \right. \\
& \hspace{15em} (2.11)
\end{aligned}$$

For  $p = 1$ , we have

$$\begin{aligned}
& \left| f(x)g(x) - \frac{1}{2(b-a)} \left[ g(x) \int_a^b f(x)dx + f(x) \int_a^b g(x)dx \right] \right. \\
& \left. + \frac{1}{2} \left[ g(x) \sum_{i=0}^{n-2} f^{(i+1)}(x) \frac{(b-x)^{i+2} - (a-x)^{i+2}}{(i+2)!(b-a)} \right. \right. \\
& \left. \left. + f(x) \sum_{i=0}^{n-2} g^{(i+1)}(x) \frac{(b-x)^{i+2} - (a-x)^{i+2}}{(i+2)!(b-a)} \right] \right| \\
& \leq \frac{1}{2n!(b-a)} \max \{ (x-a)^n, (b-x)^n \} \left[ |g(x)| \|f^{(n)}\|_1 + |f(x)| \|g^{(n)}\|_1 \right].
\end{aligned}$$

*Proof.* We have

$$\begin{aligned}
& \|T_n^2(x, s)\|_q = \left( \int_a^b |T_n^2(x, s)|^q ds \right)^{\frac{1}{q}} \\
& = \left( \int_a^x \left| \frac{-(a-s)^n}{n(b-a)} \right|^q ds + \int_x^b \left| \frac{-(b-s)^n}{n(b-a)} \right|^q ds \right)^{\frac{1}{q}} = \left( \frac{(x-a)^{nq+1} + (b-x)^{nq+1}}{n^q(b-a)^q(nq+1)} \right)^{\frac{1}{q}} \\
& = \frac{1}{n(b-a)} \left( \frac{(x-a)^{nq+1} + (b-x)^{nq+1}}{(nq+1)} \right)^{\frac{1}{q}}.
\end{aligned}$$

If we apply inequality (2.7), the first inequality (2.11) follows.

For  $p = 1$ , we have

$$\sup_{x \in [a, b]} |T_n^2(x, s)| = \max \left\{ \sup_{s \in [a, x]} \left| \frac{-(a-s)^n}{n(b-a)} \right|, \sup_{s \in [x, b]} \left| \frac{-(b-s)^n}{n(b-a)} \right| \right\}.$$

By simple calculation we get

$$\sup_{x \in [a, x]} \left| \frac{-(a-s)^n}{n(b-a)} \right| = \frac{(x-a)^n}{n(b-a)}, \quad \sup_{x \in [x, b]} \left| \frac{-(b-s)^n}{n(b-a)} \right| = \frac{(b-x)^n}{n(b-a)}$$

then, if we apply inequality (2.7), we obtain the second inequality (2.11).  $\square$

**Remark 2.** We have seen that for  $g(x) = 1$  the inequality (2.7) reduces to the inequality from the Theorem B. Further, for  $n = 2$ , the inequality (2.11) reduces to

$$\left| f(x) - \frac{1}{b-a} \int_a^b f(x) dx + f'(x) \frac{(b-x)^2 - (a-x)^2}{2(b-a)} \right| \leq \frac{1}{2(b-a)} \left( \frac{(x-a)^{2q+1} + (b-x)^{2q+1}}{2q+1} \right)^{\frac{1}{q}} \|f''\|_p$$

and for  $p = 1$ , we have

$$\left| f(x) - \frac{1}{b-a} \int_a^b f(x) dx + f'(x) \frac{(b-x)^2 - (a-x)^2}{2(b-a)} \right| \leq \frac{1}{2(b-a)} \max \{ (x-a)^2, (b-x)^2 \} \|f''\|_1.$$

For  $n = 1$  the identity (2.8) reduces to the Montgomery identity (see Remark 1.). So if we take  $g(x) = 1$ , and  $p = \infty$ ,  $q = 1$  (for  $n = 1$ ), then we obtain the Ostrowski inequality:

$$\left| f(x) - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{1}{2} \cdot \frac{(x-a)^2 + (b-x)^2}{b-a} \|f'\|_{\infty}.$$

## REFERENCES

- [1] G. A. Anastassiou, *Ostrowski type inequalities*, Proc. Amer. Math. Soc., 123 (1995), 3775–3781.
- [2] G. A. Anastassiou, *Univariate Ostrowski inequalities*, Revisited, Monatsh. Math., 135, (2002), 175–189.
- [3] A. Aglić Aljinović, and J. Pečarić, *On some Ostrowski type inequalities via Montgomery identity and Taylor's formula*, Tamkang J. Math., 36 (3) (2005)
- [4] A. Aglić Aljinović, J. Pečarić and A. Vukelić, *On some Ostrowski type inequalities via Montgomery identity and Taylor's formula II*, Tamkang J. Math., (to appear).
- [5] A. Aglić Aljinović, and J. Pečarić, *Extensions of Montgomery identity with applications for  $\alpha$ -L-Hölder type functions*, (submitted).

- [6] A. Aglič Aljinović, J. Pečarić and I. Perić, *Estimations of the difference of two weighted integral means via weighted Montgomery identity*, Math. Inequal. Appl., 7 (3) (2004), 315–336.
- [7] N. S. Barnett, P. Cerone, S. S. Dragomir and A. M. Fink, *Comparing two integral means for absolutely continuous mappings whose derivatives are in  $L_\infty[a, b]$  and applications*, Comput. Math. Appl., 44 (2002), 241–251.
- [8] N. S. Barnett and S. S. Dragomir, *And identity for  $n$ -time differentiable functions and application for Ostrowski type inequalities*, RGMIA Research Report Collection 6 (2) Article 7, (2003).
- [9] P. Cerone and S. S. Dragomir, *On some inequalities arising from Montgomery identity*, J. Comput. Anal. Appl., 5 (4), (2003), 341–367.
- [10] P. Cerone, S. S. Dragomir and I. Roumfiotis, *Some Ostrowski type inequality for  $n$ -times differentiable mappings and applications*, Demonstratio Math. 32 (2) (1999) 679–712.
- [11] P. S. Mitrinović, J. E. Pečarić and A. M. Fink, *Classical and New inequalities in Analysis*, Kluwer Academic Publishers, Dordrecht, 1993.
- [12] P. S. Mitrinović, J. E. Pečarić and A. M. Fink, *Inequalities for Functions and their Integrals and Derivatives*, Kluwer Academic Publishers, 1994.
- [13] A. Ostrowski, *Über die Absolutabweichung einer differentiebaren Funktion van ihrem Integralmittelewert*, Comment. Math. Helv., 10 (1938), 226–227.
- [14] B. G. Pachpatte, *On a new generalization of Ostrowski's inequality*, Jipam Volume 5, Issue 2, Article 36, (2004).

(Received: July 19, 2006)

Andrea Aglič Aljinović  
Department of Applied Mathematics  
Faculty of Electrical Engineering and Computing  
University of Zagreb  
10 000 Zagreb, Unska 3, Croatia  
E-mail: andrea@zpm.fer.hr

Razim Hoxha  
Faculty of Applied Technical Sciences  
University of Prishtina  
38 000 Prishtina, Mother Theresa 5, Kosova  
E-mail: razimhoxha@yahoo.com

Josip Pečarić  
Faculty of Textile Technology  
University of Zagreb  
10 000 Zagreb, Pierottijeva 6, Croatia  
E-mail: pecaric@hazu.hr